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OSAESFRHIIS LHAN HE HIAF =
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O20178 = SHSSZFHIEI & ASH| 60,000
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S H AL 17,880 14,880 3,000
201 Zer24] 7,000 4,000 3,000
03 A2 Z Hl 7,000 4,000 3,000
Ostdog I8 A A 2,000,000& = 13l 2,000
OLSUL=ZH A 5,000,000& = 13l 5,000
301 et d = 4,880 4,880 0
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3,500,000& = 170 SHS 59,500
201 LB-2dH| 15,600 7,000 8,600
01 At 22/l 4,800 2,000 2,800
O=sZZllol Roliotds=2 2H 423 7 1,800
- 22X, g, X2 60,0003 = 309H 1,800
ORI ESE =2 =0 HAl M
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OUEE(+BRGE) tE23I| 7
2,000,000& = 1CH 2,000
02 323l 10,800 5,000 5,800
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300,000& = 309H 9,000
OMSESESHEH &S
150,000& = 1JHA + 1200 & 1,800
206 M = Hl 9,900 7,200 2,700
01 =8l 9,900 7,200 2,700
ORdiOlM=2 Mo YXE A 2
30,000& = 308 = 11& 9,900
301 L2 A3 100,000 30,000 70,000
1MIIEESS 100,000 30,000 70,000
Oletl Z=EEAS 100,000,000& * 14 100,000
307 glz2tol & 5,000 5,000 0
02 P HAHEE 5,000 5,000 0
ONtMsEE XS XY
6,250,000& * 1JHEHXl = 80/100 5,000
402 BI2HX=0l M 72,000 72,000 0
01 2I2E 2 A B (KR ) 72,000 72,000 0
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H2stEE Mi12x) 72,000
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2,400,000& = 6004 = 50/100 72,000
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Al 8,400
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< 3,600
Al 7,726
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301 L2 AF 50,000 50,000 0
< 15,000
Al 35,000
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OOMSESELEZNS 50,000,000& = 14 50,000
< 15,000
Al 35,000
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< 3,000
Al 7,000
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Al 28,000
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< 12,000
Al 28,000
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01 At 2t 2l bl 12,180 0 12,180
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Osst=d AALs A+E
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2008 * 45,0008 = 12 9,000
03 #A2EHI 5,000 0 5,000
=oiztst= 2 AHLUE R2I|2 S5 29
5,000,000& = 12 5,000
207 A0 10,000 0 10,000
01 2= 4| 10,000 0 10,000
Ofsisises YN &4
10,000,000& * 14 10,000
301 Lotz 3,000 0 3,000
09 EAMNEHIEa = 3,000 0 3,000
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3,000,000& = 12 3,000
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—ORHOf Bt X 70,0008 » 3%fA 210
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= 24,000
< 7,200
Al 16,800
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